


11
11

:/ :/ q; q;

11

<

18
19

!

X

e

2015 11

PumO v ®

N = 8 8
18 11 20
K K - 5fiR: 29
8 fi 24D K
K
—Vvei % Z %[ 8
K K K
«4E 1 D 8
— L -8
- = ™= N - Sfi R

—veir

IN

SORAT

g fi 2o dL



a ~'>fiR: > e 4354 4 11 18
a - ! DfIR D) e
-'2fiR: D —
-1 5 fiR: D | 82013 23
- t s | 5000 #°®g <t
+ o %625 8
% 25 8 %50 4L/ 4 . 4
@ETM_MQ
| 25 #2818 %  #— 8
2 Yo |- — <—1 <09
— n
n - - H
I-QIETM-” n 4L A-“iS$ - A-”
0 Pemov ® ~ | + - CO2—
<« i 0 |H #z CO24 - ) fi Co2 8
- af
: n M-
— n n n 130 = - - A
n J—
-|-— Y8 4
° %l q#- -
vl 4L L g8 #

Ome 8 n n
<8 - 4 ! =™

~ - =

24 f A n,'fie |s ——
w 12000 w 6250kw 5650kw
w 4000 kw 11000
o dL J fi wCO J Ai
v L 1 130

n Vs ||f

—_ ? =| - = ™M=



30 -V ™M=
— L Aoezxs
_I__ L eV —1] <9
n Y8 s
ZE Y%/ q - S o=
ve -~ 4 Fos—1<g09
U —
- s % #Nef
vl ofi— L Aq<
g4 totd refe
| s FNef o s— wof VHed[=q]<s — 0 2 YN 8
?-élOTMS ™a - IETM_HQ
L 4 v s @®@»| 60 65 84t « | 50 55 — £ ™=
%9 < % Weafi ) Lo ™M= 2 58 2 A
o ™< %o ™ O | Yo o0 Y = % 9
T
{0o0=¢ ek ok A< LENe o | 008 80 %
# Ne| © — %= %Ne™ # 8 Yo |k L o= ™| o
8 L [ =pe™g<T A Ye |- LNg v o
G ~ =~ TM=
o e® #8 8 4 Lk= A-”
o= T™Mg 9
u - = M= I H\‘\M‘h |
A==, -'OfiR: Do~ = ™
u <
| - 30 17 30 %!
e 9
90db — % { —#°870db ~ d01
rofpo s
0
3 o= TMp MO
Paheiadd, —10 - oV [ %d o
i _
o R 7 1/8“: 4
I=.|| o dL $%-|| 2 ;
- ™ < Mg = _ AL oA
I wrve
— 0 Y
,_N9=|8 , 8
of V< F
% Nof ¢




o xleL <t ®« Dt = ™= - L1
11 19
in 4L 1 D
E - 0 IR : -
L ek el | <« —  #Nef 8 2011 -8 g
o - A #£8 <«i»d— - 1tV 0 L oAy
o' fi i VA _ — =< o=, <4104 -
Ao 1 <d 8 &1 2D — 0 - 1= 0 - 4 F#
TM_||9
/ —o Ye# & 2012 Yol td Ve <t D |H —
AL - %AV Es < 8 0= ¥ #
Ak =8 kq v AL # 1 y{steL 2 13 o —
AL |=ETM-||9
| 0 Era «£i»df o' fie<al el 13 ®« Dk
- =~ TM= L R £2/3l0_[\/9
«ti»2f o'
e L % o=me205 -
111,750kw v ™ <= 2014 — 196,050k
_ d < o= = TM_” 38 | +$_e ™A TMO
8 9 — s 00 38 | 2 n ™9
8 4 — % 4 |4 4 s %oo8 Vo Acso]<ss
km Nev 4 YoYe o | ™% %o ™9 < o= - —
L=
PumOo v ®
a e, — 8 A" ) Wem D— 8 - |H P umO ¥ ®
— % F# ™| % «£i 1D2< =249 o0t A vse< ™e |4 Ls
L>e A Y8 < ™e 2 4 Fzm>o
e L <t ®« D}
0tLeL <t ®« Dt < |
n ¥ 8 EZ) 8 EZ] L =8
Looce v L2 asd o g
n % < 8 AL o
n o < 7 K. WO)@i 8
n %RD>J 4D - H| . Lk. womi
n L =R>J a2 AL
n | odf er



n s -
n 8 | — FY%* 1< o=
U —
in Y8 00 ¥g8 S— O wafi 4 L o
no - L < #2351 o ™s | % e
n - = 4L %
n — | 12 < 2 ™V ¥s | 14 15 # ez ™ o
0 -V ™A nz#E— = | & 2| o ™9
0 RET —= ™= | s Z>e k%< eo
o x Pumov ® 8o xleL <k ®« D} -= ™=
_——
-2sm= Ls — # P om0 ¥ ®— - 4
Le<™e  3%%%= ™:° 0 < ™e | < # | 0 ™% % —
AL =y 9
Y O #1484 - 8 Y gS—lS$NQ-”9=|\/8
<t D — < ™e |4 Ls no < ™e ¥ ™< 9
VA
/ e ™e 2ls — % ™ FL st %N 2| o™
oFe YO < o= — L g™ —  n  swmersd  <o=of %
1




0 1989

U 2005
L

U 2006

t

2015
) —

+ox
=h

I ° I I ° I I IJIJ I IS
[e¢}
I

== v

©

[ J—
©

- =~ T™™M= 8 $fi 24D

12 20

i

$fi 24D
$fi 24D

- ﬁP-@D

[e¢}




awvwvdfisd#—
R

a | s 8
J_:g.”g
— IL
— £ —
Y8
u L8 =| Ao s
- AL A.”g
) —
- =~ M=
0 | 2% o) =™ % -
L aA{ 2018 7 °
— | A 9
- » — e - |
| o
G _.7§|8 8 8 8 aS> -
ATE
0 okt o 4 v
< 0 %8 8 #
n 1/8|||=
a | # % 125,00
¥% 25,000 °
8 — 9| -3
~ =~ T™M= 8 | ™3/ 8 4
T I
a — | @ 7000 10000




|

mn =

x SRR
11 19
n %904
z | s o ¥ 2015 18 ~ S IVACR 25%5
I od Pmove - 2 - % 34f ¢ % L
8 — ™ @A-” ™9 — — Ols — d s
100— % [ =™ %/ q |- L g ffes™e 4
a
G - o= AL
in
0
n 8
0'”2=|—
n -|——1/81 -
0
n — L e
n + — 8 8 W i J
] Pumo v ®
Nnwd 2 Ki
¥ —  02rc= ™= ) yd Ak
—V E—0JT -
- %1
- %1 (D e
n/ —
] * ) P um® D
Ne ) P wmll D — | AL
n - A 1t —
n R.. D - - H
8 8 NPO 8 W' fivws = 8 ZRI 8 -0
62 1523 - +— L4 %t s 2015 10 31 277 % -
TM_”S_l59
%o LoLe - se= e
| s < %8 | ©dJ i N e
| ©d )i 9 % | - Ak
ZX 7T R P < - | PumO¢ ® % <



8 = 2fiRd>-s % mME q48 | - o)
Jidb @ETM.”g
Hse - = oofe - de o 2
f=m™o # mg L 2] sk. ¥emode - 4Lz
% s ho:dbo o2 — L o AL o8 J i
.:.ETM-”g
o] X - = ™M=, X |—:TME—=|SI:
|8 - ”':i”' % 08 4 L A o < lelzTM'Ilg
¥V 0 1 A ol -8 Yo 510%8 10 — L ~=
too=|ofne L g | oo — < ™e # | A
- % 4 % o rq=™—#e % 0< % -4
= -3 e8< ™e -1 L f-||8<—¢<9
/ e ™e n Wt — e < — 1
98 L o= M54,/ T™M9
#l0 so=—  swelfls  s.=o <
e #1% #Nof o <%t L ymgc  Llp= - =f=
mp Lo ezmfs eqi= a0 r f fEwocas
L s — -0 ) ©4 IETM-”15|8 =, <L QQQTM_¢|QTM1/88
A
) X - =< ™M= E AL T'”
11 19
i
nHoh
- = & 4350
- —_— < - T =
2011 11 -~ = — < — —- ”4 8
# — 4L e Y =8 L 4y r Ys
-8 4 - &) L ”_Q\/g J/S'F 2 km
oo e e % 9
+ 490
Yy 8 # < — Ys e N

-10-



T R S Cof— ] e
0 ~br=le - % o  Lnde -
% <o Y% Nef ©
¥ Yo |k — - t 44 = 0 L e Lo
# % Ad re J +— %o % 1
14 ¢ s%fe s o 8 - o~ AfvEe d
¥ A=5% 0 AL Ls — 8 8 £_||
AL A'”
Q i - l_:-__TM—|8 1/8|f km —
< — 4/ — % — AL
a - | ®
J— 4 S J—
_ J
8 d
<
c Bl fi -
Y
— <
10 - <
- —_ < — T =
h vO x—
h vO — 4 =V < %%
h vd x _
h vd x _
h vO x z—kidp _
a - = ™M= 8 8 < < # L|0l=\/Sl$9 8
120 - d=ofes g

-11-



-12-

o X l—zTME—=|S|=
| @ wlke L ™ 3#—  3%45km< ™e o %E S —
# A1 <00 — 4 g - L
S ) L LR
8 - %™= | 8 % L < e=%ds/ —
- % #Ne|-r®e <o=— | k= # Nef| ©
— — — - d s < o= 8 N =
3 %yY-A{—%20c0¢ < o= % -8 -
| vV %%t = 0 L afr<ds -k
= M54,/ T™M9
0 X - =~ TM=
AL o= _
AL o8 8 4 1/8|f 4 9 4L - =1
ZETM\/OOTM\/Q
2015 11 20
1243 L#0o < -
> L
-|3K
—_ n - = M=
v — - %1 — 8 z L o™ 2NV
2010 12.3
¥ 4 - o4 - Nev d 8 — % = Nov [ =—
Ssaf =™Yo
0 — | % Nof 9%¢ < o= — AL -
2% fer® mae’ i « @) Fve & - A L gy
0 -= ™= | 82011 %l 2015 3 # — < Vo
A E|
0 — -= ™= | 8 % g o ™Y — - 0= - 4
A L s - Wl 0™ << oV e
0 — % Nef| ~pm=s L n 0 n
AL o o= ™/ 09 | < oV 0
v Lot ~Nevdqe Neftwso k - o8 : AL



